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66 What is the number density of conduction electrons in gokd
which is a moncvalent metal? Use the moiar mass and density
provided in Appendis F
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NE Show that Eq. 429 can be written as £y = An™, where e
—- constant A has the value 3.65 X 10" m>-¢V. ssm
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LB
— WP. The Fermi energy for copper is 7.0 V. For copper at 1000 K.
}a 1059 (@) iind the enerzy of robebility of being
occupied by an clectron is 0.90. For evaluare (b) the
density of staies N(E) 204 (c) the deasizy of occupied siztes N,(E).
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299 Show that, at T = 0 K. the average energy ..y of the con-
229 dnction electrons in 2 mexal Is equal o 3¢ (Hint By defnition of
average, Ey.p = (Lin) | EN(E) dE, where n is the qumber deasity

of charge carriers.) ssm o
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ﬁ 3; 35E (a) What is the maximum wavalengih of the light thar will
R excite an clectron in the valence band of dizmond 10 the condnction
b0 band? The enersy gap is 5.5 eV. (b) Is what pert of the electro- .
/> = magnetic spectrum doas this wavelenssh lic? ssm .
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